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Prove each of the following identities

1) cosO X tanf = sinf

cotf 1-sin26
2) L0 _
tané 1—cos28
cos26
3) cot?6 =
) 1—cos28
csch
4 = cotl
) secO

5) (sinf + cos8)? = 1 + 2 sinb cosh
6) 2sin%0 — 1 = sin?0 — cos?0

1 1 1

sin20  cos20 sin2?6 cos20

7)
8) cos?6 = sin?0 + 2 cos?6 — 1

9) tanf = tan?6 x cotf

10) sec?6 + csc?0 = sec?0 X csc?6
1 1 )
11) 1+sin6 1-sinf 2 sec”®
12) tan?0 — sin?0 = sin?6 X tan?6
1+2sin6 cosd .
13) TE2SRT 057 — sinb + cosB
sinf+cosf
sec6+1 = cosf+1
14) sec6-1 = cosf-1 0
0 0
15) = = = 2 sec?6

cscf-1 cscO+1



